Explore:
1. 6raph x + 3y = —3 using intercepts.

Step 1: Find the y-intercept by plugging in O for x.
O+3y:=-3
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y=-

Step 2: Find the x-intercept by plugging in O fory.

X +3(0)=-3
X+0 -3 ( \
-3 O
x=-3 ‘
Step 3: Plot the y-intercept and the ﬁ-infercepf. Connect the two points.
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2. You have $6 to spend on apples and bananas. i

Bananas Plcs-

MSorpondl  KdhdSipandd

a. Write an equation representing the number
of apples and the number of bananas you can

bUY‘ "S-Oo-"--hob :(0

oR-
|.50%+ .60y =6

b. Find the x- and y- intercepts for the
equation you wrote.

.60Ob = |.50a =6
b=10 a=Y
0R oR

1= k=Y

c. What do the intercepts mean in the context of this problem?

s You louty Zevo apples you tan buy 10 bananao

and
i gu buy 280 bananas You tan Oy Fiappies

d. Use the x- and y- intercepts to graph the equation.
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In your own words, explain how to use the intercepts to graph an equation that is in
standard form.

Pluj n zevo for X and Solve -f-orﬂ

ng in 2er for Y ard Srlve for %

Plot 2 points
Connect e 2 points
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